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Q: 72 Approximately how much is land boundary of India?

(1) 15200 km

(2) 7516.6 km

(3) 6100 km

(4) 2000 km

Q: 73. What is X in the following map?
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(1) Jhelum River

(2) Chenab River

(3) Ravi River

(3) Indus River

Q: 74. How much is the length of Kaveri River?

(1) 1400 km

(2) 1500 km

(3) 860 km

Q: 75. Which one of the following is the characteristic of code weather season in India?

(1) Warm days and Warm nights

(2) Cold days and Code nights

(3) Warm days and Cold nights

(4) Cold Days and Warm Nights

Q: 76. Match List – I and List – II and choose the correct code from the following:

(A) Sunderbans (i) Uttarakhand

List-I List-II
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Q: 77. According to the Census 2001, a ‘literate’ person is one who

(1) Can read and write his⟋her name

(2) Can read and write in any language

(3) Knows the three – reading, writing & arithmetic

(4) Is above 7 years and can read and write any language with understanding

Q: 78. Assertion A: Black soil has high capacity to hold moisture.

Reason (R) : Black soil develops in areas with high temperature and heavy rainfall

(1) Both (A) and (R) are true and (R) explains (A)

(2) Both (A) and (R) are true but (R) does not explain (A)

(3) (A) is true and (R) is false

(4) (A) is false and (R) is true

Q: 79. Match List – 1 and List – II and choose the correct code from the following:
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Code:

(B) Nanda Devi (ii) Tamil Nadu

(C) Gulf of Mannar (iii) Karnataka

(D) Nilgiris (iv) West Bengal

(1) iii ii i Iv

(2) Ii iii iv i

(3) i iv iii ii

(4) iv i ii iii

(A) Extinct Species (i) Nicobar Pigeon

(B) Vulnerable Species (ii) Asiatic Cheetah

(C) Endangered Species (iii) Black Buck

(D) Endemic Species (iv) Asiatic Elephant

(1) iii ii i Iv

List-I List-II

A B C D

List – 1 List -2

A B C D
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Q: 80. Based on the data provided which of the following crops is most probably indicated?

Equatorial crop having moist and humid climate, rainfall more than 200 cm, temperature above 25° C, main
producer state is Kerala.

(1) Coffee

(2) Rubber

(3) Jute

(4) Sugarcane

Q: 81. Which of the following cities is not connected with National Highway No.8?

(1) Delhi

(2) Mumbai

(3) Kolkata

(4) Jaipur

(2) ii iv Iii i

(3) i iii iv ii

(4) iv i ii iii

A B C D


